Inflation : Tt

o

T T T T T _4

I lw

™

I lo

™

o | lw

e o
c
S
i<y

o

ET 1
=]
7]
c

3 10

- 1«

I lo

—

- 1w

1 1 1 1 1

@9 D

pagunuad—uou snsiaA pagnuad ‘aoualayip usdiad

40

T T T T T T T T T T
L 1.0
[e0]
| 1O
[ep]
4
O L el
@] N
ey
(7]
>
o
or 1N
@]
c
c
(&)
O L 1.0
+ —
L 1O
—
- {0
1 1 1 1 1 1 1 1 1 1
N [ap] <t Lo [{e] N~ [o0] ()] o —
| | | | | | | | 1_. 4_
juaoiad
o
T T T T T T T 4
L 110
(90}
L 1O
(4p]
L 1.0
o «
Q
@
S
- L 1O
(%] N
(0]
S
[©]
<
— L el
—
| 1O
—
- 4w
1 1 1 1 1 1 1
N~ [(e] n <t (40] (qV] — o

o o o o o o o
paginuad-uou snsiaA pagnuad ‘eoualayip 1usdlad



